ECEG 390 Theory and Applications of Electromagnetics Spring 2025
Selected Answers to HW #7

Include explanatory text and intermediate calculations in your solutions. You will not receive

credit for merely repeating an answer given here without supporting work.

If an answer is not provided below, it is either because the solution is trivial or because
disclosure of the answer would give away too much of the solution.

If you suspect that an answer below is incorrect, please let me know as soon as possible.
1. a. Smax = 380 NW/m?
b. Prx =16 nW
Intermediate result: For both antennas, G = 1,512,
Remember that you must show how this value was obtained.
2. Prx = 7.9 pW to 1.8 nW
3. Pt,min =0.86 mW.

Some intermediate calculation results: For the RX antenna, Rjoss = 7.68 mQ and Grx =
0.37. Remember that you must show how these values were obtained.

4, a. [H|pk = 44 pA/m
b. Vgap =50 quk

5. Vin=33.5pVpk

6.  Vin=23.35pVpk
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